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Al 11,342,336
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s 225,450
< 66,920
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A& HEHI 2,067,210 4,980,900 A 2,913,690
s 225,450
< 66,920
Al 1,774,840
AMUEZ SAES & THRD) 501,800 501,800 0
401 AIEHI L 2 CHYI 501,800 501,800 0
01 A& HI 500,000 500,000 0
OANUEZ RANES L AN (AHLH)
500,000,000 =14l 500,000
03 Al S HHI 1,800 1,800 0
OAIZ 2 HHI 1,800, 000& 14 1,800
A -2 2 NG90 MM SE§OI22E N 283,610 310,370 A 26,760
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s 225,450
< 16,920
Al 41,240
401 AIEHI L 2 CHYI 283,610 310,370 A 26,760
s 225,450
< 16,920
Al 41,240
01 A& HI 281,810 309,370 A 27,560
OHA~X AL I A2 dUHAANY 281,810
PEZ Y EHUHMAIE FH|
281,810,000 » 14! 281,810
s 225,450
S 16,920
Al 39,440
03 AlE 2 THHI 1,800 1,000 800
OAlZ St 1,800, 0002 14 1,800
HSAZTAH~F LA EE HUIAY 601,800 0 601,800
401 Al HIZ 2018 601,800 0 601,800
01 A& HI 600,000 0 600,000
OXRSAZEAMACI~EHAA Nl B FHI AL (
L=1km 2kOF) 600,000,000 =14l 600,000
03 A& =2 THHI 1,800 0 1,800
OAl& 2| 1,800, 000& 14 1,800
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HelH B FHIALS 100,000 0 100,000

401 Al I 2 O8I 100,000 0 100,000
01 A& Bl 100,000 0 100,000
OHciH HehAMAel~AHeH s Y EE jHl:ll(L
Akm 2kOt) 100,000, 000& 14 100,000
2UAS FHYel B X2 A 30,000 0 30,000
401 AIEBIZ 28I 30,000 0 30,000
01 A& tl 30,000 0 30,000
O2Y%s FHyel Bx & X3 AHL=0.5km) 30,000
> & Al & A HI 30,000,000 =14 30,000
& M= & B2 X SA 150,000 0 150,000
401 Al BIZ 201 8] 150,000 0 150,000
01 A& HI 150,000 0 150,000
OE==2H= & 25 HXSAH(L=0.11km)
150,000, 000& * 14! 150,000
SgH AMZ EE AXISA 100,000 0 100,000
< 50,000
Al 50,000
401 Al Bl 28I 100,000 0 100,000
< 50,000
Al 50,000
01 A& HI 100,000 0 100,000
E0MH AME BEE & X3 AHL=200m, B=1.5m
) 100,000, 000& 14! 100,000
< 50,000
Al 50,000
SEHAR SEHAAE HE ALY 200,000 0 200,000
401 Al& I 28I 200,000 0 200,000
01 A& HI 200,000 0 200,000
O AR FHAANE HLAS
200,000,000 =14l 200,000
CEHEXT(LESEX) wH 100,000 0 100,000
ANEHI &b 100,000 0 100,000
01 A& HI 100,000 0 100,000
OS2HXE (LS HEX) wAl
100,000, 000& * 14 100,000

E2 A2 2,754,278 2,510,872 243,406

NE SXE= 1,947,398 1,833,992 113,406
201 2et24d] 1,527,598 1,343,442 184,156
01 At 2teltl 1,451,540 1,264,940 186,600
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PEZ2 RAES 2A2E 2|
4,000,000 *14! 4,000
PER FA=AEY 242
614,000 +6Z X| 3,684
O3 29+ 4,200
PERuYARIE BALY
70,000& » 1521 x4 3] 4,200
O5 =&l 6,000
DS HAZRIA 244
8,000& #1501 x2 Al +252 6,000
o6 g1tz 1,433,656
DHMEED 7| 44,0003 20128 1,056
DRIS&ESIE GIEH(158)
25,900,000 =350H 906,500
DRHIS&EGE GIEH(5E)
18,500, 000& *10CH 185,000
DRISESE WS 2(06W) 22,200,000 «3CH 66,600
DHMARS(MEIIX)E 2HS=2(06W)
500,000& 60 * 153 45,000
PE Y MEAPE E4H
170,000& «90CH x 153] 229,500
02 =224l 76,058 78,502 AN2,444
O1 3322 ¢ AA 9,720
DRMAED &Iz 300,000& 204 A +12& 7,200
DH&EZED & -5t
30,0002 2 2 +12& 720
DRHIAED AHY ABE 50,000& x12& 600
PEZESR FUHE MEZ
100,000 = 1CH*12& 1,200
O2 A=l 3,738
DHMAED e 9273 xBAl 2k+72 *7H 3,738
O3 A& ZHlI s Xt 55,000
DRMAZY 7F0H 10,000, 000& * 14! 10,000
> H& &l S22 40,000,000& =14 40,000
PUH=EI BF 1,400& x1,0004 1,400
DOl =D S22 50,000 =801 x4 & 1,600
DRMAED A5 250,000& 2= *43] 2,000
O4 Xt&d el 7,600
DXg S5 550,000& = 12& 6,600
DXt FHls XYl 1,000,000 =14l 1,000
202 oddl 1,800 1,800 0
01 SLHOIYI 1,800 1,800 0
OANE RANExHE =X 150,000& =128 1,800
206 M= Hl 411,000 191,000 220,000
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01 =8l 411,000 191,000 220,000
OgsZ&(sEI MEXRYE)
500,000& 500 250,000
Oxz3(SEI HEHIE) 250, 000& »500& 125,000
OYEA(SEI HEEGE)
25,0002 x1,200& 30,000
OPPOICH(=&EI| MEZHEE) 1203 *50,000H 6,000
5 e =2s 7,000 7,000 0
01 HtH& =S 7,000 7,000 0
O&2 KX el Eolltha= 7,000,000 x14) 7,000
2 RAES 200,540 150,540 50,000
401 Al& Bl 28I 200,540 150,540 50,000
01 A& HI 200,000 150,000 50,000
O2& RANEB#(23H =)
200,000,000 =14l 200,000
03 AIE 2 0H I 540 540 0
A& S 540,000& » 14 540
sHEZZ RAES 200,540 150,540 50,000
401 Al BIZ 201 8] 200,540 150,540 50,000
01 A& HI 200,000 150,000 50,000
OsSHEZZ2 RANE4(65M o)
200,000,000 » 14! 200,000
03 A& =2 THHI 540 540 0
OAl& 2| 540,000& » 14! 540
25 ¥ SHEEZZ X &M 251,800 251,800 0
401 AIEHIZ 28I 251,800 251,800 0
INE=1:1] 250,000 250,000 0
Oz & SsHEEZZ e =M (88IH =)
250,000,000 =14 250,000
03 Al 20l 1,800 1,800 0
OAIE =TI 1,800, 000& 14! 1,800
25 ¥ sHEEZZ =4 El 100,000 100,000 0
401 Al&HI & 28I 100,000 100,000 0
01 A& HI 100,000 100,000 0
O ¥ SOHEEZ A EEHEA (88
LA 100,000, 000& * 14! 100,000
=g A 30,000 0 30,000
TAZHIZE0UY 30,000 0 30,000
01 A& HI 30,000 0 30,000
O&Ed"eE: 09 &X 2,000,000 » 1504 2 30,000
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2(2)8 MHatae 24,000 24,000 0
201 Bt H | 21,600 21,600 0
01 AP 22l Yl 21,600 21,600 0
O1 dEtx=2H| 21,600
PETHXN S22 390,000& 10 X| 3,900
PEAH=ERA S5 570,000& 102 X| 5,700
DRAESE ST 200,000& *60& Xl 12,000
202 04| 2,400 2,400 0
01 2LHOHI 2,400 2,400 0
O= - 3sMA 013 Hel 200,000& x12& 2,400
CZANEES A2 1,312,672 1,315,856 N3,184
T ZAEZS S22 308,352 311,536 N3,184
201 L2 9| 8,316 11,500 N3,184
01 AP 2t 2l Yl 1,700 1,700 0
O1 etx=2H| 1,700
DEZAEE SAES LBt=2Y|
900, 000& *14] 900
DEZAAEE RAESL X EX T A
80,000& =104 800
02 =294l 6,616 9,800 N3,184
O1 2222 % HMA 1,200
DEZELS SHE A2 100,000 +12& 1,200
O4 XA el 5,416
DS (S AE) 3,416,000& = 1CH 3,416
> xtg FHl S X 2,000,000& = 1CH 2,000
202 04| 4,200 4,200 0
01 2LHOHI 4,200 4,200 0
OE=2ZANEE RANEFLER FA
350,000& x12& 4,200
206 M= Hl 34,900 34,900 0
01 X2t 34,900 34,900 0
OEdtE 13,000& *2,300 %L 29,900
OeEEE 10,000& *500 m* 5,000
401 Al HI YL 2 0HHI 260,936 260,936 0
01 A& HI 260,000 260,000 0
OE=ZANAEE B SOPH 260,000
DEY AIEEE 20,000& *5,000 m* 100,000
P2 CE2HAA 100, 000& *1,000m 100,000
> = CIXtolH A 200, 000& *300m 60,000
03 A& 2 0HbI 936 936 0
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OAN&EL20UbI 936, 000& *14! 936
w A2 501,800 501,800
401 Al HI L 2 0HHI 501,800 501,800
01 A& HI 500,000 500,000
Ony AL 500,000
P2 -sHEEZZ 300,000,000& * 14 300,000
DEAAHEEZ 200,000,000& * 14 200,000
03 A& 20 b 1,800 1,800
OAl& 20| 1,800,000& * 14 1,800
T2 HEAIEZE 722 301,080 301,080
401 Al HI 2L 2 0HHI 301,080 301,080
01 A& HI 300,000 300,000
Oz OHNMAIEZE &X
200,000,000& * 14 200,000
Oz EX& Hd| 100,000, 000& 14! 100,000
03 A& £ 0HH| 1,080 1,080
OAl& 20| 1,080,000& * 14 1,080
g =& FHISA 201,440 201,440
401 Al HIL 201 201,440 201,440
01 A& HI 200,000 200,000
Oz =cte HHI3A 200,000,000& » 14! 200,000
03 A& 2 0HH| 1,440 1,440
OANEL2UbI 1,440,000 * 14 1,440
NEzE g ,257,500 , 224,500
= 169,900
Al ,087,600
AFDA LAY 722,500 889,500
& 139,000
Al 583,500
AAZAIE 2> 150,540 150,540
401 Al HI L £ 0HHI 150,540 150,540
01 A& HI 150,000 150,000
O88HES AREANE FXNES
150,000, 000& 14! 150,000
03 A& 2 HH| 540 540
OAl& 20| 540,000& *14] 540
HEECZ S22 100,360 100, 360
401 Al HIL 200 100,360 100, 360
01 A& bl 100,000 100,000
OHgAEZ RIS 100,000, 0003 14! 100,000
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03 Al&E 201 Y| 360 360 0
OAIZ 20| 360,000 1A 360
s FOU=FAAY 3,600 3,600 0
202 044 3,600 3,600 0
01 2L Hl 3,600 3,600 0
O FoxaMY NG Bal(84H L 2S)
300,000 x12& 3,600
T AH BH HUIAMY 122,000 50,000 72,000
& 61,000
Al 61,000
401 AlEHIZ £ 0HY| 122,000 50,000 72,000
o=t 61,000
Al 61,000
01 Al&H| 122,000 50,000 72,000
O dH && HUIAMY 122,000, 000& x 14! 122,000
= 61,000
Al 61,000
220 o222 Ad4l=2 A Xl 2 Al 300,000 0 300,000
& 55,000
Al 245,000
401 Al HI L 2 0HHI 300,000 0 300,000
= 55,000
Al 245,000
01 Al & H| 300,000 0 300,000
OR2H o2 HUl=2 A0S &XZ2AHL=15
m, B=5.0m) 300,000,000 1Al 300,000
o=t 55,000
Al 245,000
AME2el MOssU 2 1 T2 EHIZ2AE 46,000 0 46,000
= 23,000
Al 23,000
401 Al HI L £ 0HHI 46,000 0 46,000
= 23,000
Al 23,000
01 Al& B 46,000 0 46,000
O4lgl2e] MOtE2SU 2 1A S2FHIZ2AHL
=300m, B=3.0~5.0m) 46,000,000 1A 46,000
= 23,000
Al 23,000
FOI=RAAL 432,000 335,000 97,000
FOI=SH HAAY 432,000 335,000 97,000
401 AlEHIZL £ 0HY| 432,000 335,000 97,000
01 Al&EH| 432,000 335,000 97,000
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OAxXH S| &x7 0t FH S AH(L=2
70m) 40,000,000& =14 40,000
OAxd 32 Hwd ti=2 FH| 3 AH(L=60m
) 12,000, 000& 14 12,000
OR2d g2 #2202 =24 M A X2 A
L=44m) 20,000,000& =14 20,000
O 2¢al otset2 Edl S AH(L=600m)
80,000,000& =14l 80,000
OHefid FeHel Ea=2 st ZLEIAH(L=4
00m) 35,000,000& =14 35,000
Oehe Zehel ASY S2 EH I AH(L=250m)
25,000,000 =14l 25,000
Osgd =gl 29 0222 EZE S AH(L=450
m) 65,000,000& » 14! 65,000
omEdH A=22 &2 FHl3AHL=80m)
70,000,000& =14 70,000
OS2s 14S(EX0t2) o2& EXSAH(L=347m
) 85,000,000& =14 85,000
NS 103,000 0 103,000
= 30,900
Al 72,100
=20 =2 FHIAY 103,000 0 103,000
< 30,900
Al 72,100
401 AIEHI L 2CHEI 103,000 0 103,000
= 30,900
Al 72,100
01 A& HI 103,000 0 103,000
OZ=RU =&d HUAY
103,000, 000& 14 103,000
= 30,900
Al 72,100
SAE2H EHl 719,667 565,995 153,672
b2 HFHl 719,667 565,995 153,672
2 =HEd o 719,667 565,995 153,672
201 2et2 Y| 10,356 20,340 ~9,984
01 At 22l 3,340 3,340 0
O1 eet=ZHl 2,500
DFEHEE 28 54l 2,500,000 * 14 2,500
O6 21tz 840
DAEI IXE 35,0003 *2CH*12& 840
02 =224l 7,016 17,000 29,984
O1 33232 ¥ HMA 3,600
DEHEBE AIRA M2 150,000& = 12& 1,800
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50,000& 123 600
e SUHE AR 100,000& 12 1,200
O4 Xtgd el 3,416
DAuERAH(F2LE) 3,416,000 «1CH 3,416
202 044l 4,800 4,800 0
01 = LH o4 1l 4,800 4,800 0
OJ2 EHE:R =& 400,000& 123 4,800
307 21201 A 704,511 518,855 185,656
05 BIZHRIE 3 704,511 518,855 185,656
OokLd ¢ 2 4HIZ EHl
3,795,270& =140 x12& 637,606
O#ALE Sh=(AlI2dY 2 92)
109,810& #2501 x2 x103] 54,905
OZH #H =&4AIXZ2 XMl 3,000,000& *43] 12,000
E2XH HA 3,069,178 3,246,726 A177,548
E2LE KX 3,069,178 3,246,726 A1T7,548
E2XY |2 2,798,178 2,926,126 A127,948
201 Let24d] 1,762,192 1,776,040 A 13,848
01 At 22/l 33,480 33,480 0
O1 gt==&Hl 30,300
PLE Il - HOS GRAEALLE
10,000& *3,0000H 2 30,000
DEN EEMA 100,000& 35 300
O6 2tz 3,180
DIt SHIZALAE AIEEH 22
265,000 12 3,180
02 =224l 1,728,712 1,742,560 A 13,848
O1 22232 £ AMA 1,706,712
DIESE - ZYES &=
920,000,000 =14l 920,000
DEOS HMIIZ 4,000& *10,800& 128 518,400
PEES = 5,000& *2,600& x12& 156,000
PIl2sS e EI| sS4z
4,000 *2540 =12 12,192
DIls XMl SHE AIEE
60,0003 *x2CH =123 1,440
> &It & 3l i 70,0003 =401 280
D> ESCOAL S & &3 8,200,000 «12& 98,400
O4 Xtgd el 22,000
DS X (DAEHIL)
750,000& *2CH 128 18,000
D OAXMAI I 2,000,000 *2CH 4,000
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202 Od4dl 4,200 4,200 0
01 = LHA YI 4,200 4,200 0
OE2xY RANEB=YSR =& 350,000& 128 4,200
206 M= Hl 156,000 153,000 3,000
01 = tl 156,000 153,000 3,000
OE2xd SXNE= TN 156,000
DIHZE MOE 3,500,000 204 70,000
Pot2s HED| 1,500,000 *2007H *5/100 15,000
>Eots FEII 100, 000& *6, 000K *5/100 30,000
DEME @I - otFE )|
100, 000& *5,000S *5/100 25,000
DEsg L8t R 50,000 *300H 15,000
>&EIIEH S+ 50,000& *20& 1,000
401 Al HI & 28I 875,786 992,886 A 117,100
01 A& HI 873,986 991,086 A 117,100
OSXE= CHIbAH < 521,075
DIHZES 500,000& x11,867= *5/100 296,675
> EotS 300,000& x10,800S *5/100 162,000
>DERES 300, 000& *2,600S *8/100 62,400
OE=2xY 2elAlAE |X2e
250,000 128 3,000
OE2xY HSHE SFANES
16,9143 x12,310S *5/100 10,411
Ok® 28 TESAM 100,000& *400S 40,000
OJt28 HI|LHl HMACH LARFAE E=
50,000,000 =14l 50,000
OLED H2S UHAS(ETZ 852 ,822)
1,000,000& x200S 200,000
OL® HEZ2S= WHSAM 2,750,000& »18=2 49,500
03 Al =2 THHI 1,800 1,800 0
OAIZ S THHI 1,800, 000& 14 1,800
XY &1 271,000 320,600 A 49,600
401 Al HI & 28I 271,000 320,600 A 49,600
01 A& 8l 270,000 319,600 A 49,600
OEs X 2o A3
1,200,000& 505 60,000
OZ8 #AXNA TS 22 &%
2,000,000 20 40,000
OSHH =pDX2~5HEzW & IS X
S At 4,000,000& 205 80,000
Ott7E NYnDwd IHEs XA
5,000,000& 105 50,000
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OHHE 2 AMHel =& S A
4,000,000& 105 40,000
03 Al& = Ohl 1,000 1,000 0
OAE =R HHI 1,000,000 =14l 1,000
AAEHN nE 245t 426,390 625,950 A 199,560
HEH 018 243 ALY 426,390 625,950 A 199,560
H&EH 018 2435t 4,030 4,030 0
201 24l 1,630 1,630 0
01 At 2t 2l 1,630 1,630 0
03 2g+¢ 630
DUAEHOIZSELE fe a4+
70,000 9021 x13] 630
06 Y2 1,000
DRAYXTEAN = I X2
1,000, 000& 14 1,000
202 Odl 2,400 2,400 0
01 2401 bl 2,400 2,400 0
OXN&EN 018 Edst =& 200,000& »12& 2,400
HEA HNM2ELNE 2 16,000 17,000 21,000
201 L4l 11,000 12,000 21,000
01 At 22l 11,000 12,000 A 1,000
O1 ger+gl 11,000
DOMRENE B2 MA
5,000& *2,000H 10,000
DOUNMRENE =2F M
1,000& 1,000 1,000
301 et A Z 5,000 5,000 0
09 BALAHI B A2 5,000 5,000 0
OUM2HNE X AU 24
20,000& 521 502 5,000
A&EH OlESEHs gt 2= 4,200 4,200 0
206 M= Hl 3,000 3,000 0
01 M2 4l 3,000 3,000 0
OXENH 220IS=+cl 225 7Y
250,000 x123] 3,000
301 et A= 1,200 1,200 0
09 &AL HIZ &S 1,200 1,200 0
ON&EN RE0ls=cl WA AU 24
20,000& 521 %123 1,200
&EAH OIEAIE X 2 FHI 201,440 200,720 720
401 Al HIZ 201 Y] 201,440 200,720 720
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01 A& HI 200,000 200,000 0
OXENEZ R XE=(200002)
100,000, 000& 14! 100,000
OXREANE=Z AHMHEA AX]
100,000, 000& * 14 100,000
03 Al 2 THHI 1,440 720 720
OA& = HHI 1,440,000 * 14! 1,440
HIAWXZ~AMES AN HEAEZ N4 200,720 0 200,720
401 Al HIZ 2018 200,720 0 200,720
01 A& HI 200,000 0 200,000
OFFuxzZ~dgeddHe HEHEZ N (L=
400m) 200,000,000 » 14! 200,000
03 Al =TI 720 0 720
OAIZ 2l 720,000& » 14! 720
HE2IZH (== 22) 197,711 177,012 20,699
lEId (=22l nt) 135,528 119,569 15,959
ol 2| 135,528 119,569 15,959
101 @14l 135,528 119,569 15,959
01 2= 83,422 75,023 8,399
OAZt 284 10,299& %2721 x300A| 2t 83,422
02 JIEt& 2 == 3,090 3,001 89
OAt 2% 10,299 x 121 x300 Al 2t 3,090
03 RIHAZ 22 49,016 41,545 7,471
og&EzZ2Y 49,016
DI - SHEOIIZ, 22 JIsHal)
15,063 & #2021 x240A| 2t 7,231
DEASMIA(ZZ2RA2T)
14,5123 x 1121 x240A| 2t 38,312
PHMLSIA(CRERE 20, A42%)
14,4693 121 x240A| 2t 3,473
JlgZdl(=22&elu) 62,183 57,443 4,740
Jl234 62,183 57,443 4,740
201 Let24d] 37,703 36,983 720
01 At 2teltl 31,860 31,380 480
O1 et=2Hl 18,900
PEM2E =EH| 18,900, 0002 14! 18,900
O5 =&l 12,960
DOt - S22 8,000 %2721 x53| x12& 12,960
02 2324l 5,843 5,603 240
O1 3322 % HA 5,843
>PERI 5843
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0OSJIeH 2,130 x100E 122 2,556
oYU ™ 3302 «830E 12 3,287
202 04l 15,000 15,000
120 15,000 15,000
OJl2g2430H| 1,000,0009 x12& 12,000
OC22e Y= 20|
3,000,000 x 14! 3,000
203 YR EH| 5,580 5,460
04 BNSIYRFRH| 5,580 5,460
ORNSIISEXH| 465,0002 122 5,580
405 XHaHE SH 3,900 0
01 MY EEF SH 3,900 0
OPC 1,300,000 *3LH 3,900




